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For questions 1-8, read the text below and decide which answer (А, В, C or D) best fits each gap. There is an 
example at the beginning (0).

Example:

A between В apart C away D out

Yellow, orange, red
It is September, warm days are getting few and far 0 _____, you can’t help thinking about winter that is soon going 
to take 1 _____. Inevitably, one of the things you can’t 2 _____ but notice is tree leaves turning orange and yellow. 
So why exactly do they do that?

It is easy to guess that the process is somehow tied to day length. With days getting shorter, trees get less sunshine 
and eventually the 3 _____ of leaf senescence begins. Simply 4 _____, it is when trees shed their foliage, as they no 
longer have much use for it. Keeping the leaves would mean spending 5 _____ amounts of energy for little return. 
Chlorophyll, key element in photosynthesis, stops replenishing. Instead, what is left of it gets absorbed for nutrients. 

Chlorophyll also acts as the green pigment found in leaves.  Interestingly, both orange and yellow colours are always
present in the leaves, but are 6 _____ by the stronger green pigmentation. Once it disappears, autumn colours 
manifest themselves. Instead, they focus on preserving the energy and nutrients 7 _____ during the summer months. 
This 8 _____ to parks and forests turning into a bright ensemble of yellow.

1 A power B reign C hold D rule

2 A escape B help C seem D avoid

3 A practice B process C procedure D development

4 A said B explained C made D put
5 A added B extra C ridiculous D excessive

6 A dominant B supported C suppressed D subsided

7 A accumulated B gathered C created D received

8 A lends B leads C helps D gives
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Answers and explanations
1. C – hold. When something or someone takes hold, it means that they become the dominant force, powerful 

enough to control something. ‘To take power’ needs an object, e.g. ‘to take power (away) from somebody’. 
‘Take the reigns’ would work great, a beautiful and poetic phrase, but we would need the plural form for it. 
As you can see, for most options to work here, we are also missing the definite article.

2. B – help. If you can’t help but do something, it means you feel an urge to do it, it is too hard to resist doing it.
Idiomatic expressions are common in Use of English Part 1. ‘Can’t avoid’ could work here as well, but we 
would need a gerund form later down the road - ‘can’t avoid doing something’.

3. B – process. Here we point at a rather complex mechanism of shedding leaves. ‘Procedure’ has a more 
bureaucratic meaning and fits better for something humans (rather than plants) would do. ‘Practice’ is 
something that happens regularly – meaning more regularly than once a year.

4. D – put. ‘Simply put’ is an expression that means explaining something in a way that is easy to understand. 
‘Explained simply’ could work, however, that would require changing the word order. The remaining two 
options do not work nearly as well.

5. D – excessive. Spending excessive amounts of something means wasting it, spending much more than 
needed. ‘Extra’ just means additional – not good enough for the context we have here. ‘Ridiculous’ adds a 
very strong opinion that is uncalled for here. ‘Added’ does not collocate with ‘energy’ in this context.

6. C – suppressed. To suppress here means to prevent something from functioning or achieving full force. 
Here, green pigments suppress all others and give the leaves their natural colour. ‘To subside’ means to 
slowly reduce in strength or number – not the meaning we need here, as the situation is more or less constant.
‘Dominant’ does not work, but ‘dominated’ would in a way.

7. A – accumulated. To slowly gain more of something is to accumulate it. This is the only word here that 
conveys the idea of slow and gradual positive change.

8. B – leads. To be the reason for something. The pigmentation shift is the reason we see different leaf colours 
in colder autumn months. The other possible option: ‘This helps parks and forests to turn...’.
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